

## City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

## Resolution

File Number: R-2011-0173

**Final Action:** 

AUG 0 2 2011

Sponsor(s):

Public Works Committee

Resolution to approve bid of United Sewer & Water, Inc. for installation of sanitary sewer relays and sanitary spot relays in various locations within the City of West Allis, in the amount of \$323,272.00.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of United Sewer & Water, Inc. for 2011 Project No. 14 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of United Sewer & Water, Inc. for 2011 Project No. 14:

Sanitary sewer relays and sanitary spot relays in various locations in the City of West Allis

(PLAN FILE NOS. S-1446, S-1447, S-1448, S-1449, W-1298)

for the sum of Three Hundred Twenty-Three Thousand Two Hundred Seventy-Two and 00/100 Dollars (\$323,272.00)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds.

ADOPTED AUG 0 2 2011

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED 8/8/11

Dan Devine, Mayor

City of West Allis 2011 Project No. 14 Bid Opening - 7/28/11

## SANITARY SEWER RELAYS, SANITARY SEWER SPOT RELAY AND WATER MAIN

Various Locations within the City of West Allis

|  |     | _                                     |                        |                            | )                     | 2222       |                         | ove bride bid |                     | eld borna 3/6 |                       | or or produce of |
|--|-----|---------------------------------------|------------------------|----------------------------|-----------------------|------------|-------------------------|---------------|---------------------|---------------|-----------------------|------------------|
|  |     |                                       |                        | o puo                      | ,                     |            |                         |               | 0                   |               | 1A Cillian man        | Continue         |
|  |     |                                       | United                 | United Sewer               | UP.                   | -          | Globe Contractors, Inc. | actors, Inc.  | Rawson Contractors, | actors, Inc.  | VVIIIKOMM Excavating  | x cavating       |
|  |     |                                       | & Water, Inc.          | ir, Inc.                   | 2180 S. Springdale Rd | ngdale Rd. | N50 W23076 Betker Kd    | Betker Kd.    | Sussex, WI 53089    | 53089         | 18108 Count Line      | y, inc.          |
|  |     |                                       | Menomonee Fa           | Menomonee Falls, WI 530151 | New Delini,           | 2          |                         |               |                     |               | Union Grove, WI 53182 | WI 53182         |
|  |     | - CALIFORNIA                          | 20100                  | TOTAL                      | Boldd                 | TOTAL      | PRICE                   | TOTAL         | PRICE               | TOTAL         | PRICE                 | TOTAL            |
| ITEM   | 100 | ONI S                                 | 6100 00                | 26 506 00                  | \$118 OO              | 27 966 00  | \$111 00                | 26.307.00     | \$135.00            | 31,995.00     | \$145.00              | 34,365.00        |
| 1 8" Sanitary Sewer Relay  | 227 |                                       | 6107.00                | 30,536,00                  | \$122.00              | 38 308 00  | \$132.00                | 41.448.00     | \$140.00            | 43,960.00     | \$155.00              | 48,670.00        |
| 2 12" Sanitary Sewer Relay   | 2 0 |                                       | 6127.00                | 125 603 00                 |                       | 127 581 00 | \$116.00                | 114 724 00    | \$150.00            | 148,350.00    | \$160.00              | 158,240.00       |
| 3 15" Sanitary Sewer Relay   | 700 | - L                                   | \$127.00               | 5,000,000                  |                       | 5 855 00   | \$6 400 00              | 6.400.00      | \$3,500.00          | 3,500.00      | \$6,100.00            | 6,100.00         |
| 4 8" Sanitary Sewer Spot Relay   | - 5 | ii to                                 | \$3,000.00<br>\$168.00 | 10 416 00                  | \$155.00              | 9 610 00   | \$150.00                | 9,300.00      | \$150.00            | 9,300.00      | \$245.00              | 15,190.00        |
| 5 3-6 Diameter Sanitary Marinole (5)   | 70  | ticl -                                | \$500.00               | 500.00                     | \$1 160 00            | 1,160.00   | \$350.00                | 350.00        | \$500.00            | 500.00        | \$125.00              | 125.00           |
| 4 45" Dia Outside Draw Installation  |     | ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± ± | \$10,000,00            | 10.000.00                  | \$25,000.00           | 25,000.00  | \$40,000.00             | 40,000.00     | \$20,000.00         | 20,000.00     | \$20,100.00           | 20,100.00        |
| o o" Dia Caritata Sawar Bulkhaad   | 4   | lnits                                 | \$250.00               | 1.000.00                   | \$710.00              | 2.840.00   | \$300.00                | 1,200.00      | \$350.00            | 1,400.00      | \$225.00              | 900.00           |
| o Dia: Salittaly Sewel Dulkileau   | . " | Units                                 | \$800.00               | 2.400.00                   | \$400.00              | 1,200.00   | \$1,300.00              | 3,900.00      | \$500.00            | 1,500.00      | \$990.00              | 2,970.00         |
| 20 Samitary Mainton Abandoning   | 7   | lnits                                 | \$250.00               | 4 250 00                   | \$40.00               | 680.00     | \$310.00                | 5,270.00      | \$400.00            | 6,800.00      | \$175.00              | 2,975.00         |
| 14 8" D LW M Class 53 /B G L)  | 45  |                                       | \$120.00               | 5.400.00                   | \$279.00              | 12,555.00  | \$240.00                | 10,800.00     | \$160.00            | 7,200.00      | \$180.00              | 8,100.00         |
| 42 8" Valva  |     | Unit                                  | \$100.00               | 100.00                     | \$186.00              | 186.00     | \$300.00                | 300.00        | \$120.00            | 120.00        | \$150.00              | 150.00           |
| 13 Cut in 8" on 12" Tee  |     | Unit                                  | \$6.000.00             | 6,000.00                   | \$5,200.00            | 5,200.00   | \$2,100.00              | 2,100.00      | \$4,000.00          | 4,000.00      | \$2,900.00            | 2,900.00         |
| 14 Citin 8" on 8" Too with Valve   |     | Unit                                  | \$4,800.00             | 4,800.00                   | \$4,500.00            | 4,500.00   | \$2,000.00              | 2,000.00      | \$4,000.00          | 4,000.00      | \$1,300.00            | 1,300.00         |
| 4 Cucing and a company of the compan |     | Thirt                                 | \$2 500.00             | 2.500.00                   | \$4,100.00            | 4,100.00   | \$900.00                | 900.00        | \$4,000.00          | 4,000.00      | \$2,300.00            | 2,300.00         |
| 35 Cut-0ut 0 10 0 10 0 10 0 10 0 10 0 10 0 10 0  |     | ţiul                                  | \$500.00               | 500.00                     | \$600.00              | 600.00     | \$240.00                | 240.00        | \$1,250.00          | 1,250.00      | \$2,300.00            | 2,300.00         |
| 10 Cap o vv.m.   | 264 | × -10                                 | \$48.00                | 12 672 00                  | \$48.00               | 12,672.00  | \$43.00                 | 11,352.00     | \$60.00             | 15,840.00     | \$50.00               | 13,200.00        |
| 10 Tuno "A" Datement Replacement   | 775 | Sa Yds                                | \$61.00                | 47.275.00                  | \$46.00               | 35,650.00  | \$57.00                 | 44,175.00     | \$62.00             | 48,050.00     | \$30.00               | 23,250.00        |
| 10 Type A Faverner Replacement   | 163 | Sa Yds                                | \$38.00                | 6.194.00                   | \$35.00               | 5,705.00   | \$34.00                 | 5,542.00      | \$34.00             | 5,542.00      | \$78.00               | 12,714.00        |
| 20 Lot Mix Asshalt Davement (Type E-0.3)   | 32  | Tons                                  | \$157.00               | 5.024.00                   | \$182.00              | 5,824.00   | \$155.00                | 4,960.00      | \$150.00            | 4,800.00      | \$170.00              | 5,440.00         |
| 24 Congreto Cirk and Gutter  | 200 |                                       | \$35.00                | 700.00                     | \$32.00               | 640.00     | \$30.00                 | 00.009        | \$30.00             | 600.00        | \$40.00               | 800.00           |
| 22 E. Controlle Carb and Carrel  | 2 4 | i i                                   | \$5.00                 | 250.00                     | \$5.00                | 250.00     | \$5.00                  | 250.00        | \$5.00              | 250.00        | \$15.00               | 750.00           |
| 22 5 COTICIETE Walk  | 3 6 | So Yds                                | \$15.00                | 450.00                     | \$50.00               | 1,500.00   | \$10.00                 | 300.00        | \$10.00             | 300.00        | \$15.00               | 450.00           |
| 23 Type A Lawii Nepiacemen   | 041 | lnite.                                | \$4.00                 | 3 764 00                   | \$7.25                | 6.822.25   | \$6.00                  | 5,646.00      | \$6.00              | 5,646.00      | \$8.00                | 7,528.00         |
| 24 Pavement lies   | 200 | Units                                 | \$50.00                | 1 000 00                   | \$40.00               | 800.00     | 65                      | 1,000.00      | \$50.00             | 1,000.00      | \$175.00              | 3,500,00         |
| 20 IIIIet Flotection Daniels   | 2 - | E C                                   | CS                     | 2 000 00                   | \$1,500.00            | 1.500.00   | \$12,000.00             | 12,000.00     | \$3,000.00          | 3,000.00      | \$4,000.00            | 4,000.00         |
| Zo Tramic Control  | -   | 2                                     |                        | 323 272 00                 |                       | 338 704 25 |                         | 351.064.00    |                     | 372,903.00    |                       | 378,317.00       |

City of West Allis 2011 Project No. 14 Bid Opening - 7/28/11

## SANITARY SEWER RELAYS, SANITARY SEWER SPOT RELA

Various Locations within the City of West Allis

|   |          |           | D.F. Tomasini C             | D.F. Tomasini Contractors, Inc.                  | MJ Construction, Inc                     | ction, Inc.          |
|---|----------|-----------|-----------------------------|--|--|----------------------|
|   |          |           | N70 W25176 Inc<br>Sussex, V | N70 W25176 Indian Grass Lane<br>Sussex, WI 53089 | 8617 W. Kaul Ave.<br>Milwaukee, WI 53225 | aul Ave.<br>WI 53225 |
| HEM                                       |          | UNITS     | PRICE                       | TOTAL  | PRICE                                    | TOTAL                |
| 2" Canitary Sawer Relay                   | 237      | Lin. Ft.  | \$125.00                    | 29,625.00  | \$118.00                                 | 27,966.00            |
| 2 12" Sanitary Sewer Relay                | 314      | Lin. Ft   | \$129.00                    | 40,506.00  | \$140.00                                 | 43,960.00            |
| 3 15" Sanitary Sewer Relay                | 989      | Lin. Ft   | \$142.00                    | 140,438.00                                       | \$147.00                                 | 145,383.00           |
| 4 8" Sanitary Sewer Spot Relay            | -        | Unit      | \$3,600.00                  | 3,600.00   | \$5,790.00                               | 5,790.00             |
| 5 3'-6" Diameter Sanitary Manhole (5)     | 62       | Vert. Ft. | \$175.00                    | 10,850.00  | \$245.00                                 | 15,190.00            |
|   | -        | Unit      | \$200.00                    | 200.00   | \$100.00                                 | 100.00               |
| 7 15" Dia Outside Drop Installation       | -        | Chit      | \$42,000.00                 | 42,000.90  | \$45,000.00                              | 45,000.00            |
| 8 8" Dia Sanitary Sewer Bulkhead          | 4        | Units     | \$100.00                    | 400.00   | \$100.00                                 | 400.00               |
|   | 3        | Units     | \$350.00                    | 1,050.00   | \$650.00                                 | 1,950.00             |
| O Sapitary Reconnect                      | 17       | Units     | \$50.00                     | 850.00   | \$60.00                                  | 1,020.00             |
| 1 8" D I W M Class 53 (R.G.J.)            | 45       | Lin. Ft   | \$435.00                    | 19,575.00  | \$216.00                                 | 9,720.00             |
| 2 %" \\z\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ | -        | Cnit      | \$200.00                    | 200.00   | \$50.00                                  | 50.00                |
| 3 Cut-in 8" on 12" Tee                    | -        | Chrit     | \$4,000.00                  | 4,000.00   | \$3,575.00                               | 3,575.00             |
| 4 Cut-in 8" on 8" Tee with Valve          | <b>~</b> | Chrit     | \$3,000.00                  | 3,000.00   | \$3,838.00                               | 3,838.00             |
| 5 Cut-out 8" on 8" Tee                    | -        | Chit      | \$2,500.00                  | 2,500.00   | \$3,560.00                               | 3,560.00             |
| A Caso S. W.M.                            | -        | C         | \$1,000.00                  | 1,000.00   | \$2,900.00                               | 2,900.00             |
| 7 Apprenate Slurry Backfill               | 264      | Cu. Yds.  | \$55.00                     | 14,520.00  | \$54.00                                  | 14,256.00            |
| A Type "A" Pavement Replacement           | 775      | Sa. Yds.  | \$70.00                     | 54,250.00  | \$64.00                                  | 49,600.00            |
| 9 Type "B" Pavement Replacement           | 163      | Sq. Yds.  | \$40.00                     | 6,520.00   | \$35.00                                  | 5,705.00             |
|   | 32       | Tons      | \$160.00                    | 5,120.00   | \$194.00                                 | 6,208.00             |
| 21 Concrete Curb and Gutter               | 20       | Lin. Ft.  | \$35.00                     | 700.00   | \$35.00                                  | 700.00               |
| 5" Concrete Walk                          | 20       | Sq. Ft.   | \$5.00                      | 250.00   | \$9.00                                   | 450.00               |
| 23 Type "A" Lawn Replacement              | 30       | Sq. Yds.  | \$20.00                     | 00.009   | \$12.00                                  | 360.00               |
| 24 Pavement Ties                          | 941      | Units     | \$6.00                      | 5,646.00   | \$5.00                                   | 4,705.00             |
| 25 Inlet Protection Barriers              | 20       | Units     | \$50.00                     | 1,000.00   | \$24.00                                  | 480.00               |
| 26 Traffic Control                        | <b>-</b> | Lump Sum  | \$1,200.00                  | 1,200.00   | \$500.00                                 | 500.00               |
| Total                                     |          |           |                             | 389,600.00                                       |  | 393,366.00           |

.

1 - 1 -